H & 0l & AHS B Ml A

2 CADNE= =N

F: TADNY

el SelECAEERY (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
ANuS= 114,687,353 120,426,505 A5,739,152
= 16,680,109
iy 4,769,500
7l 573,000
= 9,206,271
Al 83,458,473
Al 655,310 847,080 A191,770
AR 583,640 750,880 167,240
SIZIMTASE RN 10,400 10,400 0
SAEE 22 10,400 10,400 0
202 Odt| 3,200 3,200 0
01 2| 3,200 3,200 0
OZAEE H2=A
20,000 *4Y *403] 3,200
203 PRF=&IY| 7,200 7,200
03 AR FRIHRFAIY| 7,200 7,200
OZANRSAIMFE(ZE)
4,800,000 14 4,800
OZAIABZ=X 2,400,000 *14] 2,400
OlCH XIS H QI Al H 2 543,240 652,480 109,240
MESTHNA TAIZIHE =8 80,000 200,000 120,000
401 AlEHIL20HYI 80,000 200,000 120,000
01 A& 80,000 200,000 120,000
OMEESHM A TAIZ2IHE =2
80,000,000 14! 80,000
AFzelHE =8 220,000 250,000 230,000
401 AlEHIL20HY] 220,000 250,000 230,000
01 Al&HI 220,000 250,000 /30,000
Od&2e|HE =8 893
220,000,000 14 220,000
SAIHE BEMA(PIS) SXI2el 25,000 25,000 0
201 et | 25,000 0 25,000
01 ArR22ltl 25,000 0 25,000
OZAIHE HEXAH(PIS) FXIE==HI
25,000,000 & *14] 25,000
SAZeHE =8 37,400 57,400 220,000
201 L2 | 22,400 22,400 0
01 Ar2eltl 22,400 22,400 0
B2 2,400
o AIHERIAS M2 M
1,0002%123] 1005 1,200
CAIMEEHEEEEF QM2 M
1,000& %123 +10052 1,200
Oo2g=g 20,000




A= CADS3 FA =AY
M CADHE
&2l DICHAISEE QI Al HIE (EEEE))
2N Y. G(BH) - HRAY - BES ol &t el HIDS2
o AHERER X ANBIEHBEAR
3 =g 100,000 x25 2«83 20,000
308 REXIEME0IH 15,000 35,000 £20,000
183 SIS0t EAS AL S| 15,000 35,000 A20,000
OEAIZeIH= sM2ZDs
5,000,000& *32] 15,000
SAIAI= 2 12,840 12,080 760
201 Ler2 | 6,000 6,000
01 AtR2telbl 6,000 6,000
Ot~ 6,000
oEXOISHERA 2522 2
4,000,000 14! 4,000
o AIHECH EHE el 423
2,000,000 %14 2,000
202 04l 6,840 6,080 760
01 =LH0i 6,840 6,080 760
O=AlZeH = HRFA
20,0002 x5 »383] 3,800
OXRHAAHE HEFA
20,0003 x4 »383] 3,040
SAIGIOF 22l 8,000 8,000
202 04l 8,000 8,000
01 =LH0i 8,000 8,000
Ojgdieioiotza RF8
20,0002 *4Z x1002] 8,000
KEotsst XRH2= =8 &9 160,000 100,000 60,000
207 AR 60,000 0 60,000
01 gE | 60,000 0 60,000
OXTAHE A (FH2X|F) AAL23t
BEEENS £F AFEH
60,000,000& x14! 60,000
401 AlEHIYL S THYI 100,000 100,000
01 Al&H| 100,000 100,000
OZAIZeIHE(XI7Ee HE) =8 89
100,000,000 *14] 100,000
CAE2xd 30,000 83,000 58,000
SAIZZ AR 30,000 88,000 58,000
201 el 25,000 68,000 243,000
01 AtR2telb] 25,000 68,000 243,000
Oget==8Hl 1,000
o A& AIMFN EEE M
1,000,000& *14] 1,000
Oo2g+e 24,000
o ANAZEES?IRE E F2ARYS =E
100,000 * 122 *203] 24,000




Ax CAUES 2A 0 SAID
M CADHE
el SAEZES EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
308 XXM SOIH 5,000 20,000 A 15,000
18 SIS0t 4 A AS A 5,000 20,000 15,000
OXN S dMEZ =
5,000,000& 13 5,000
S3CIAel Jl=lizel 23,400 24,000 2600
S3CIRel J|g &g 23,400 24,000 2600
S30Ae 22 23,400 24,000 2600
201 el 23,400 24,000 2600
01 At2t2ltl 23,400 24,000 2600
OS&LIA ME2E AR2el]
3,000,000 *14] 3,000
OSsUARINERARS] == 20,400
oSSLNRAASAS] =&
100,000 17 x123] 20,400
HY2HZHI(ZAID) 48,270 72,200 123,930
Jl=23sl 48,270 48,200 70
JI=2&Hl 48,270 48,200 70
201 er23| 28,270 28,200 70
01 AtR2t2l] 28,270 28,200 70
OArR2telt] 17,470
cAHIANRES 7
500,000 * 122 6,000
SAMNRID| 22E7Y
6,000,000 14 6,000
od |2 60,0002 *123] 720
oJ|Et Let4=EH] 4,000,000& *14] 4,000
oA 250,000 *32] 750
O8AlH| 10,800
oJ|l=gRsd g4l
9,000& * 12 x1008] 10,800
202 04l 10,800 10,800
01 =LH0i 10,800 10,800
OJl=gd R0
60,0002 *18Z*103] 10,800
203 HR=H] 9,200 9,200
01 D[22 HHRFA| 5,600 5,600
OJ|2zgge=a 5,600,000 14! 5,600
MU A2 LRFAI 3,600 3,600 0
ORMEgge=d 300,000& * 122 3,600




Al A

=H o
Ax CAUES 2A WS
M CAX nSHHM =8
Chel: nsael EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
wsut 38,668,114 38,109,125 558,989
= 1,913,350
z 521,500
Jl 573,000
[ 1,502,023
Al 3,158,241
AN NS =8 448,244 34,190 54,054
wsSatc 448,244 394,190 54,054
AUBHA 2ER0F &Y & S a2 HAEI AL 19,000 19,000 0
207 AR 19,000 19,000 0
01 H7ESHI 19,000 19,000 0
Ol d A L 2H e 89
19,000,000 * 14! 19,000
HAZEAAE TR & 2 360,244 356,190 4,054
201 el 327,244 315,390 11,844
01 At22t2lt] 214,884 216,340 N1,456
OHAHBAIAH ABF 2
15,000,000 » 14 15,000
OHAZEBAIAH |X & 22
16,657,000 128 199,884
2 S52g4l 112,360 99,050 13,310
O&J| stz 8,530,000 128 102,360
OHAFEOHND| Elad
10,000,000& » 14 10,000
401 AlEBIYL S THYI 33,000 40,800 27,800
01 Al&HI 33,000 40,800 27,800
OHAZEOHHI] 2200 X
11,000,000 *3IH 2~ 33,000
wSIHM A2 69,000 19,000 50,000
207 AR 69,000 19,000 50,000
01 H7ESHI 69,000 19,000 50,000
OZEA EAIRSEH SIIAHE
50,000, 000& » 14 50,000
OZEA NEUHSLS HAS AN
19,000,000 * 14 19,000
tsy useEd 1% 34,704,456 32,238,417 2,466,039
= 1,913,350
z 521,500
2l 573,000
& 1,502,023
Al 30,194,583
HsunsSAe 2dst 34,704,456 32,238,417 2,466,039
= 1,913,350
z 521,500




A= CAlNS= 2A 0 s
¥ RtEY nsSEd 7=
R NS nSAe 243t EEREE)
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H %E% Hwusz
Il 573,000
= 1,502,023
Al 30,194,583
ANEENSI RHEESAHA 6,700,000 11,000,000 4,300,000
307 21201 & 6,700,000 11,000,000 4,300,000
09 2+LAE2ES 6,700,000 11,000,000 A4,300,000
OAILEUSRHB A, AL B2 )RIEES
A& 6,700,000,000& »100% 6,700,000
ALHHA Hl=2le s X3 4,541,155 4,541,155 0
= 598,160
Al 3,942,995
307 el2tol & 4,541,155 4,541,155 0
LS 598,160
Al 3,942,99%
9 2+ HELS 4,541,155 4,541,155 0
OAILHHA Hl=2e s X2
4,541,155,0002 *100% 4,541,155
< 598,160
Al 3,942,995
AUBA 2EAHE HEXIE 4,268,400 4,167,900 100,500
307 lztol & 4,268,400 4,161,900 106,500
09 2+EAExS 4,268,400 4,161,900 106,500
OAIUHA LD HZE SN2+
570,000,000& *12% 68,400
OusSHE &0l & F28s a2y
2,100,000,000& *100% 2,100,000
Oz NESX XY a2
2,100,000, 0002 »100% 2,100,000
S3EHA X2 3,499,300 3,499,300 0
= 420,000
[ 126,000
Al 2,953,300
307 glztol & 3,499,300 3,499,300 0
= 420,000
== 126,000
Al 2,953,300
05 2IZtAE = 3,499,300 0 3,499,300
OltaHA 22| X2
840,000,000 * 14 840,000
= 420,000
s 126,000
Al 294,000
ODtAHA 2| X1 (AIHIFIH
2,659,300,000& %14 2,659,300




A= TANS=2 24 0 s
M olgbEAl nESA 1%
Hel: HSusSAe 2dst (SH9 H2)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
S eeic B - == = Ol &b =2
HatHA S XI& 1,530,000 715,000 815,000
= 765,000
= 229,500
Al 535,500
402 BI2HR=0l M 1,530,000 715,000 815,000
= 765,000
= 229,500
Al 535,500
02 QIZEXHE AL 2 (01 &THE) 1,530,000 715,000 815,000
OM&HA &K
1,530,000, 0002 *100% 1,530,000
= 765,000
& 229,500
Al 535,500
HAR-SALL 220 HEXIR At 230,400 225,000 5,400
L= 69,120
Al 161,280
307 QI2H0| M 230,400 225,000 5,400
& 69,120
Al 161,280
09 2HEXS 230,400 225,000 5,400
OHAZSSALL 220 XA A
230,400,000 *100% 230,400
& 69,120
Al 161,280
2E AEIHA SY(ZEHEZA) 1,226,000 700,000 526,000
s 113,000
& 56,500
Al 1,086,500
201 et 38,600 7,000 31,600
s 19,300
& 9,650
Al 9,650
01 AtR2telt] 38,600 7,000 31,600
OAEIHA 28 S5 & & 2
8,600,000 14! 38,600
s 19,300
& 9,650
Al 9,650
307 212t01 & 1,187,400 693,000 494,400
s 93,700
& 46,850
Al 1,046,850
05 QIR”IAE S 1,187,400 0 1,187,400




A2 TAUS=E 2A  nsn
M oORISN NESHH I=
Hel: HSusSAe 2dst (SH9 H2)
AR .2 B . SH(FH) - HIBAIY - A2 Ol &roH S Hns2
= T s = T = - Off &bod ==
OE ANEIHA 2SS (ZZHECAI)
187,400,000 x 14! 187,400
= 93,700
(= 46,850
Al 46,850
OZE AMEIHA 23 (2ZHEZAI(ABIZ
ot) 1,000,000,000& *14] 1,000,000
ZE AEIHA 2 (U2)(ZZHECAI) 759,000 430,000 329,000
[ 379,500
== 189,750
Al 189,750
402 SIZERHE0| M 759,000 390,000 369,000
= 379,500
(= 189,750
Al 189,750
02 QI X2 AL EE(OIETHE) 759,000 390,000 369,000
OAIEIHA P& 81,000, 000& »7CH 567,000
= 283,500
= 141,750
Al 141,750
Ol s BEXE3F 7Y
192,000,000 *100% 192,000
= 96,000
(= 48,000
Al 48,000
H=wSHl &= XA 174,000 38,000 136,000
= 87,000
Al 87,000
308 AXISHSO0IH 174,000 38,000 136,000
= 87,000
Al 87,000
183 SIS0t 4R AS AL S 174,000 38,000 136,000
OtisnsH &= X
174,000,000 *14] 174,000
= 87,000
Al 87,000
SsdlH & 2SAMAEEH =4 10,000 10,000
401 AlIEHIZL 2 OHYI 10,000 10,000
01 A&l 10,000 10,000
OOtdbiA SSHE | 2=
10,000,000& x 14! 10,000
F2d SGHAHOE =4 ¥ 29 4,380,662 4,380,662
307 212+01& 142,320 142,320
05 2IR”IAES 142,320 142,320




A=z CEANES 2AM 0 NS
M Qb= WsSEE A=
Hel: HSusSAe 2dst (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
O SZHAHOIE 22l 29 fIE=
142,320,000 * 14! 142,320
401 AIEHIZ 2018 4,178,342 0 4,178,342
01 Al&Hl 4,178,342 0 4,178,342
O=2& SZHAHOIE 24 3,998,342
oEXl E4H(211) 3,184,372,000& * 14! 3,184,372
ocdg BAH(21) 488,803,000& * 14! 488,803
oA B4 325,167,000 14 325,167
O=2& SZTHAHOIE ZESA
180,000,000& * 14! 180,000
405 XHAHE SHI 60,000 60,000
01 AL ESH =S| 60,000 60,000
OF2d SZHAHOE 28 2
0,000,000& 14! 60,000
EAI2S ALY XI&A 217,304 1,130,631 A913,327
201 ZEH2 & 2,500 2,500 0
01 AFS2t2ltl 2,500 2,500 0
OfAIZA 3|0l
100,000& *7 H =33l 2,100
OEAIAR B S0 &
100,000 #4H 2~ 400
307 212t01 & 200,601 441,730 A241,129
02 QIZHHLAIHE X 200,601 441,730 A241,129
OEAl MEIAJNS(SAIL S Z2HLl) X
14,300 %1, 169CH* 122 »100% 200,601
308 REXIHMSOIH 14,203 647,401 AB33,198
183 SISOt EAS ALS | 14,203 647,401 AB33,198
OHASHEB2AIAAE(TIMS) 2l XA
14,203,000& * 14! 14,203
SHESA 285 XEAY 902,209 0 902,209
307 gIztol 259,000 259,000
02 QIZHHLAIHE XL 259,000 259,000
OHAl SESHEH MIXA
370,000, 000& *70% 259,000
308 RXIHMSOIH 643,209 643,209
13 SI 2SO A EAS ALS | 643,209 643,209
OHA0lE ZEEE 28231
643,209,000 14 643,209
BAR3 ItEs=2 XA 196,392 201,264 N4,872
= 58,918
Al 137,474
307 gIztol ™ 196,392 201,264 N4,872
& 58,918
Al 137,474




A= ZAUES S IRmi=n
Hu: oIiEA DESA 715
Hel: HSusSAe 2dst (SH9 H2)
4224 - HE - S9IE) - AIRAY - B of v e HIDE2
02 2IHBHAIHE £ 196,392 201,264 N4,872
OHAIRS Itz &
14,0002 +1, 169CH* 12 *100% 196,392
= 58,918
Al 137,474
EAIZ R X2 (EEZR) 1,600,000 1,750,000 150,000
= 124,800
Al 1,475,200
301 22N = 1,600,000 1,750,000 150,000
= 124,800
Al 1,475,200
14 IIEt2 8= 1,600,000 1,750,000 /150,000
OHAIZ T ZAXIJ (HE2R)
13,000,000 *32CH 416,000
= 124,800
Al 291,200
OHAIZ X2 AX R (HEZ R (AIHIZDH
37,000,000 +32CH 1,184,000
EHAl CHXHEIE X1 13,500 0 13,500
& 4,050
Al 9,450
307 elztol & 13,500 0 13,500
= 4,050
Al 9,450
02 2IZHBYAIHE & 13,500 0 13,500
O=Al tiXHHI 2 X1
1,500, 0002 *9CH*100f% 13,500
=S 4,050
Al 9,450
JHRIEIAI X R JIsEd I 80,000 0 80,000
< 40,000
Al 40,000
402 QI”F X201 & 80,000 0 80,000
= 40,000
Al 40,000
02 QI A2 AL E R (0IETHR) 80,000 0 80,000
OIHIHAIXN R JIsES NE
100,000, 0002 *80% 80,000
=S 40,000
Al 40,000
Sgus=¢ 28 XE(0I1=2) 2,610,000 2,432,600 177,400
7l 573,000
Al 2,037,000
307 elztol & 2,610,000 2,432,600 177,400




ANUS= A WS
AEA WEHY 2=
SUSAY 243t (SH9 H2)
LA B - S9(E) - AISAY - BES of v e HIDE2
7l 573,000
Al 2,037,000
05 Dizkelera 2,610,000 2,432,600 177,400
OSEIS4E 2N
2,610,000,000& *14] 2,610,000
Jl 573,000
Al 2,037,000
Sgnssg 28 JNA(2ER) 300,000 248,060 51,940
= 300,000
307 elzto| & 300,000 248,060 51,940
= 300,000
05 2ItRIE = 300,000 248,060 51,940
OSgDELE 2EXL
300,000,000 * 14 300,000
= 300,000
Sguss+H =g 392,000 144,000 248,000
= 196,000
= 58,800
Al 137,200
405 AtaHE = 392,000 144,000 248,000
= 196,000
= 58,800
Al 137,200
01 ML ESFSHI 392,000 144,000 248,000
OSZRELS XHFTY
49,000, 0003 +8CH 392,000
= 196,000
= 58,800
Al 137,200
SSEEA X2 185,134 185,134 0
[ 29,000
= 46,840
Al 109,294
301 EtE N = 185,134 185,134 0
= 29,000
& 46,840
Al 109,294
01 A2 HSHS(RNEERTH) 185,134 185,134 0
OSSEEAl XI& 185,134,000 14 185,134
= 29,000
< 46,840
Al 109,294
ENOo nsetkt ols X2 732,000 546,000 186,000
01 2EtEd = 680,000 504,000 176,000
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AR TAUSE=R SA NS
M AHHZH(RSDH)
&l D122 (CH9: &S1)
M. RA B O9I(S) - ALY - BAS ol &t e HIDS2
=J|Et=Z4| 500,000 *14] 500
202 04l 8,400 8,400
01 204l 8,400 8,400
OJl=g!R =0
100,000 x28ZE *33] 8,400
203 PR=4| 5,340 5,340
04 RA2ILRFEH 5,340 5,340
ORN2IHRF 445,000« 123 5,340
HRes(ush) 3,491,574 5,452,678 21,961,104
LA XI= 3,491,574 5,452,678 A 1,961,104
WA Xi= 3,491,574 5,452,678 A 1,961,104
701 JIEtSI HENES 3,491,574 5,452,678 A1,961,104
01 DI AN ES 3,491,574 5,452,678 A 1,961,104
OnSMASESIH HES(MAEA SAIXIS
& M 0% L)
3,491,574,000& *14] 3,491,574




H £ 0l & AF & S

Al A

A2 TAUS=E SA 0 SAITHA D
H&: 00| =Lots XSSt A
chelr Sagdst (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K %E% HusZ
S AL 24 2 8,539,633 7,049,977 1,489,656
= 3,075,000
S 344,700
Al 5,119,933
010 =&ot= XIEItss SAITHA 8,117,084 6,716,688 1,400,3%
= 3,075,000
(= 344,700
Al 4,697,384
CaEdst 5,222,383 5,342,808 A120,425
= 1,777,000
S 177,700
Al 3,267,683
SAITHALS 55,000 1,708,900 1,653,900
201 Zet2& ] 45,600 49,500 A3,900
02 222l 45,600 45,000 600
O332= % HAl 45,600
ocdMIIRS 3,500,000 «12& 42,000
o&t otk 23 300,000& 122 3,600
202 04l 7,800 7,800
01 =LHOLI 7,800 7,800
OZAITHY At =&
20,000 6 »652 7,800
203 YR=EH 1,600 1,600
03 AIHF=XHRFAI| 1,600 1,600
OZAINY FRFH 1,600,000& *14l 1,600
SANTHAAIY Atz 2t 86,500 86,500
201 L= 46,500 46,500
01 AFR2t2ltl 26,580 26,580
2k 24| 26,580
CHSYEAUE RAUTHISH =2
165,000& « 122 1,980
cHESEEAZ FLEY
1,400,000& « 128 16,800
oHSYEAUZ rM A (&), a8,
s271) 24 650,000& 122 7,800
02 S22l 19,920 0 19,920
02223 2 HMAl 19,920
cHSEEAE A2
1,500,000& « 122 18,000
cHSEEAS 4.0t
150,000& 122 1,800
cHSEEAUS LlHIOIE HiydHsY S
ea 10,0002« 122 120
401 AlIEHIZL 2 0HYI 40,000 0 40,000




AR CANE=R SA : SAIHAD
B2 F010| FEots K&IHsEt SAIA
chelr Sagdst (SH9 H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b S2
01 Al&HI 40,000 0 40,000
O=Ls TAIHM HEAIE =33 X2
10,000,000 & * 1A 10,000
OZYS SAMY ANBAIE ARS 241
20,000,000 14! 20,000
OSEES TAIHM HEAIE A7E 44|
10,000,000& =14 10,000
LASATAIHMXREEH 29 222,183 210,108 12,075
101 Q124d| 125,121 72,726 52,39
04 JI2tHNI22XsES 125,121 72,726 52,395
OHIEZE (&2) 78,125
oY 67,500,000 & * 1A 67,500
ot | AR 200,000& x 1~ 12& 2,400
oA =& SEOY|
20,000& *1Hx1203] 2,400
o &A= 5,825,000& x 1A 5,825
OQOEATAMIACIHIO0IE 45,903
oJ|lEg 2,916,6402 12 35,000
SRGPNES=Y 111,680& * 124 1,341
SYNFA LI ES=y 20, U0 *20A| 2Hx 12 5,026
oE&MbI 20,000& x1H*603] 1,200
o &A= 3,335,440 * 1A 3,336
OM=&Y 1,093
o0l 106,400& x2H *x53] 1,064
oMEZHY O NEANWEE S
1,064,000 *2. 7% 29
201 LEH2AH| 79,062 114,382 N35,320
01 AtR2t2lbl 49,662 78,002 N28,340
oYt =Z24| 19,662
oA EEZ L AAMX ME
5,000,000 14! 5,000
oR0IFHIEY =2
100,000& 128 1,200
CANREE P2 700,000 *43] 2,800
SHEBR=ES 20,0003 x25* 122 480
S AMNREII| ABE P
300,000& 128 3,600
o AITHAY At BT & D}
2,000,000 *1A 2,000
oAAE ARE =&Y
2,000,000& *23| 4,000
od4D| A= 48 5003 x12& 582
OZ24! EHOIX & AlAE 2H22| 24
2,000,000 & *1A 2,000
OJIEF =&H] 3,000,000& *1A 3,000




A=z CEANES 2 ¢ SAITHA
M 00| F==ot= XNSBItssh TAITHAY
& SaEydst (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
Smo AR e T == B Ofl &k ==
O2gs FoHarust 2 (XXM HAH A
&) 25,000,000 * 14! 25,000
02 2324l 14,400 21,380 6,980
O332= & HAl 14,400
ocNMIIR=a 1,000,000& = 12& 12,000
od ot R= 100,000& « 122 1,200
osdE 100,000& «12& 1,200
03 A2 15,000 15,000 0
OZAMAUsE 29
15,000,000& * 14! 15,000
202 044l 3,000 3,000
01 =LA LI 3,000 3,000
OZAITHA AFH =&
20,0002 «2& x753] 3,000
307 212t01 & 15,000 20,000 25,000
02 QIZHALAIH E X 15,000 20,000 25,000
O=232A 15,000,0002 *100% 15,000
NEAE 23 XSTHHALS 134,000 54,000 80,000
401 AlIEHIZL 2 OHYI 23,000 4,000 19,000
01 Al&HI 23,000 4,000 19,000
OMNSAE THHAIY F&
23,000,000& *14] 23,000
405 KHoHE S| 111,000 50,000 61,000
01 ML ESHSHI 111,000 50,000 61,000
OKNSAIZ &0 IH
111,000,000 = 14! 111,000
ZZEUE FHE XM (IIHEE XA 450,000 0 450,000
307 212t01 & 450,000 450,000
02 QIZHAAAEE X 450,000 450,000
OZZEYHE &= XM
450,000,000 *100% 450,000
ZEA DISSSH(LOIEH) XA 20,000 20,000 0
307 gIztol 20,000 20,000
02 QIZHHLAIHE XL 20,000 20,000
ODtSSSH(LOtEA) BXAE
5,000,000 *4JH 2*100% 20,000
SATHAAI (2 EES) 400,000 330,000 70,000
307 212t01 & 100,000 0 100,000
02 QIZHALAIHE X 100,000 0 100,000
ONBZZA(ESAHOI, E3t2k2X)ANE D]
2(AIBIZFEDH) 100,000,000 *100% 100,000
401 AIEHIZL 2 0HYI 150,000 150,000
01 A&l 150,000 150,000




TAINS= 2 0 SAITHA D
Z010| =&ot= KHItsst T AITHA
N (ol @)
224 3. B(3H) - ASAY - BAS 0 &y e HIRS2
OLY S TAITHAAIZ =XI(AIHIZ=DF)
150,000, 000& * 14| 150,000
405 RtaE S| 150,000 0 150,000
01 AL =2 SF S| 150,000 0 150,000
OLs TAITHAAIY =XI(AIBIZ=IF
150,000,000 14 150,000
H= 232 TAIMMAIS 1,000,000 0 1,000,000
401 A HIYLL20HH| 500,000 500,000
01 Al&HI 500,000 500,000
OYZ L2E TAWMAIY =2
500,000,000 * 14 500,000
405 RtabE S| 500,000 500,000
01 ML =2EFHS 500,000 500,000
OYF= Y2 TAITHMAIY HE OH
500,000,000 14! 500,000
s TAITHAALS 2,854,700 2,506,500 348,200
= 1,777,000
& 177,700
Al 900,000
401 Al HIL20HH| 2,854,700 2,506,500 348,200
= 1,777,000
= 177,700
Al 900,000
01 Al&HI 2,785,000 2,506,500 278,500
OZds TAITHMAIY =&
2,785,000,000& 14 2,785,000
= 1,730,000
& 173,000
Al 832,000
02 Zeclgl 20,000 0 20,000
OZds TAITHMEAIY =&
20,000,000& 20,000
= 18,000
& 1,800
Al 200
03 Al&20HHI 49,700 0 49,700
OZds TAITHMEAIE =&
49,700,000& 14! 49,700
= 29,000
& 2,900
Al 17,800
=02 Mg 2,894,701 1,373,880 1,520,821
= 1,298,000
& 167,000




42 CARER SA T ZAKAD
M 00| F==ot= XNSBItssh TAITHAY
Rl ME0E A (SH9 H2)
A 2A -G9S - HRAY - BES ol & Cie HIRS2
S w <= = Ol &b =2
Al 1,429,701
FFX 7 A8 O ALY 86,700 86,700
401 AlEHIZ 20| 86,700 86,700
01 AlEHI 86,000 86,000
OFAXS SSAIE=S HUISA
50,000,000& *14! 50,000
O==2d OtsZ HYEX 24|
36,000,000& *14! 36,000
03 AIE 0Bl 700 0 700
24T >2(LTEIL, EF )
700,000 %14 700
CAl FHEXSE NE(ASXIF) 2,806,001 1,364,200 1,441,801
s 1,298,000
& 167,000
Al 1,341,001
101 el H| 33,629 39,760 A6, 131
M JIZtHI2E2 S 33,629 39,760 26,131
Ootsgsot JI22(AlbIF
2,802,400 12& 33,629
201 Ler23H| 75,000 41,700 33,300
03 A2 G| 75,000 15,000 60,000
OSHAN T2 2H(ABIFIN)
75,000,000 14 75,000
401 AIEHIZL 2018 2,617,372 1,282,740 1,334,632
s 1,242,000
L= 159,800
Al 1,215,572
01 AlIEHI 2,597,372 1,272,740 1,324,632
OMS0ISAIY =&
1,754,400,000 2 * 14 1,754,400
s 1,228,000
L= 158,000
Al 368,400
OMEDISAE =& (AIHIZD
842,972,000& 14 842,972
02 Zcldl 10,000 0 10,000
OME0tSAIY =&
10,000,000& *14! 10,000
s 7,000
& 900
Al 2,100
03 Al SR CHYI 10,000 10,000 0
OME0tSAY =&
10,000,000& %14 10,000
s 7,000




SANER SA  ZAITHA D
=010] ZEoHs T AT A
SIS Al EER-E)
LA B - S9(E) - AISAY - BES of v e HIDE2
< 900
2,100
402 212t XH=0] 80,000 0 80,000
= 56,000
< 7,200
Al 16,800
02 QIZHHZ AL E X (01X THE) 80,000 0 80,000
O=2IE2AM AE X
80,000,000& *100% 80,000
= 56,000
[ 7,200
16,800
SO0ISAME A= 2,000 9,680 A7,680
201 er2 3| 2,000 9,680 AT,680
01 At2teltl 2,000 2,000 0
Oltsas% s3I |A 2
2,000,000 %14 2,000
2 Xd 362,095 279,311 82,784
= i - 2el 362,095 279,311 82,784
s & A4 131,740 72,600 59,140
201 er23 | 99,740 40,600 59,140
01 At2teltl 65,280 38,600 26,680
Oget+=ZHI 16,000
oc=gd= JHl 423 7Y
4,000,000 * 14 4,000
oc=¥=2 SEallalE=:
4,000,000 *34! 12,000
O=2g+¢ 1,400
o2 3
70,0002 x5 *43] 1,400
Ogxz 27,200
osHAE b &XH(AIt0l
) 220,000& «10H* 10 2,200
Si =l ANAE
25,000,000 * 14 25,000
OSAE &X 29 94|
1,600,000 ~12& 19,200
OAIZEALLED 210=
100,000 «62 600
Osg&i= 880
oS 110,000 x2& »23] 440
o X5t 90,0002 x2E +23] 360
o 10,0003 2 *43] 80
02 S5=2g4l 34,460 2,000 32,460
O33e2= 2,000




D EANS= SM 0 SAITHAED
D EAEE Y

s N - 2 EER=E)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
CEE2NES Jb| HilTHE
2,000,000 %14 2,000
OSLAE XA A 19,200
odMIIZE 1,500,000& ~12& 18,000
oS4l 100,000« 12& 1,200
OAIEALLED 21 = 13,260
oMIIE= 2,100,0002 6 12,600
ostRs 110,000& +62 660
307 212+01& 32,000 32,000
05 2IR”tRIE = 32,000 32,000
O=eZns ot AL U
8,000,000 *42] 32,000
&= CX e & FHIAY 151,900 135,000 16,900
401 AlEHIZ 2018 151,900 135,000 16,900
01 Al&H| 150,000 130,000 20,000
OF =2 AIAICH CIXER! JHd
20,000,000 #5I1 2 100,000
Oag SEAAE & AHAAAIE WA, S
30,000,000 *14! 30,000
O=H & =& &gyl
20,000,000& * 14| 20,000
03 A2 2 0HYI 1,900 5,000 A3,100
OZ10= TIXONE AlZ R0
1,900,0002 %14 1,900
1= i - 22l 28 3| 2,560 2,560 0
202 04| 2,560 2,560
01 =LHOLI 2,560 2,560
O=2gnsate] AIMFEA o
20,0003 2 »643] 2,560
sYF0= FAA 75,8% 69, 151 6,744
101 @124H| 45,89% 30,151 15,744
M IIRINZENSES 45,895 30,151 15,744
Osgls RN ALY X2 (HHHE) 45,895
ocsHdll=E FHMA AR
106,4003 x20L x212 A 44,688
oSN EEE FE=S
44,688,000 *2. 7% 1,207
206 M=l 5,000 4,000 1,000
01 MZH| 5,000 4,000 1,000
OsdZl=s FHNA 223
5,000,000& *14] 5,000
301 EtE NS 25,000 35,000 10,000
14 J|EtE2a=S 25,000 35,000 10,000
Osgdiu=s A2
25,000,000 * 14! 25,000
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g 8 A A

SANER A A8
AL
d22d £9 (crel ®2l)
LA B - S9(E) - AISAY - BES of v e HIDE2
24,725,448 28,184,600 A3,459,152
= 1,100,000
[ 932,000
= 5,469,100
Al 17,224,348
A&y 92,060 117,940 125,880
A48y 24 92,060 117,940 A\25,880
A4y =8 34,700 59,140 N24,440
201 2egh=3| 34,700 34,140 560
01 At2t2ltl 10,700 10,140 560
Oggtrzg] 1,500
CRRMASII4
300,000 «5E K| 1,500
O%de 28+¢ 4,200
SR IEL =
70,0008 7 H*43] 1,960
SIIEASIMBRIARE EHA LT
70,0002 x8H #2353 1,120
CLSANSAL M LS AR 22 &
s 70,0002 x8H *23] 1,120
O= - 37X 2t BX&
100,000 +50H 5,000
2 35234l 24,000 24,000 0
Os&82= € MA 24,000
oIS 42 BIY S T2e3
2,000,000 122 24,000
JdEE 2EEH| 7,360 8,800 1,440
202 04| 5,760 7,200 1,440
01 =LHOLI 5,760 7,200 21,440
OAULHIE2 ALY 2 AIBFA0H]
20,0002 6 43| * 122 5,760
203 HE=AH] 1,600 1,600
03 A= P2 FAI| 1,600 1,600
OALH YA 1,600,000 14| 1,600
BRMH(ER) 822 50,000 50,000 0
201 ger= 3| 50,000 50,000
01 AtR2tc|HI 50,000 50,000
OFgrg 500,000& »100& K| 50,000
a2t 5,420,000 7,480,000 /2,060,000
= 30,000
Al 5,390,000
QIS0 oH A 5,420,000 5,400,000 20,000
= 30,000
Al 5,390,000




SADER SN 2D
S22 A4 2L
FOIMSOIRIoHA (EEEE))
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
272 FBAME(ER) FH] 1,900,000 1,900,000 0
401 AIZHIZ SO 1,900,000 1,900,000 0
01 Al&HI 1,890,000 1,880,000 10,000
Ox72 SSAL(E2) FHl
1,890,000,000& » 14 1,890,000
03 AIESTHYI 10,000 20,000 10,000
OAl& SOl 10,000,0002%14! 10,000
A2 BRAL(TE) R4 1,300,000 1,300,000
401 Al&EI L S CHE] 1,300,000 1,300,000
01 A& 1,300,000 1,300,000
OARE ZBANE(E2)RAI2S
1,300,000,000& *x14] 1,300,000
272 B3AE(2WE) FH 200,000 200,000 0
401 AlEHIZ S 0HbI 200,000 200,000
01 Al&H| 200,000 200,000
OARE SSAE(AWE)FH]
200,000,000 * 14 200,000
2 28 a5 24 110,000 110,000 0
305 HHal= S 10,000 10,000
01 =S 10,000 10,000
OA+E SSAE 28 Hlof 2&=
10,000,000 * 14| 10,000
401 AlZHIZ S0 100,000 100,000
01 Al&H| 100,000 100,000
Otz 2 45 24
100,000,000 *14] 100,000
A2 SSAIE HYEX 24 800,000 800,000
401 Al HIZ R 0HbI 800,000 800,000
01 AlZ28| 800,000 800,000
OAAE SSAE HYEX 24
800,000,000& *14] 800,000
a2 SSAIE ASAE I 300,000 500,000 A.200,000
401 AlZHIZL RO 300,000 500,000 A.200,000
01 Al&H| 300,000 500,000 A200,000
O4n2 SSAlE FIGAIE 2t
300,000,000 * 14 300,000
EXZ 2792 22 TIOHESA 100,000 0 100,000
401 Al HIZ S OHbI 100,000 0 100,000
01 AlZ2H| 100,000 0 100,000
EXZ 271982 2@ T2IHESA
100,000,000& * 14! 100,000
Q=8 JEHSH A2 450,000 0 450,000
401 AlEHIZL SO 350,000 0 360,000
01 Al&H| 350,000 0 350,000




A= SANSH
FH: Tz Aldae]
Chelr FOIME0IRoHA

2A

e
x
]

A2 2N - BB O9(E) - HISAY - BES il v A HlDE2
O2=8 428 Rz
350,000,002 141 350,000
405 Xrar St 100,000 100,000
01 X SEH S| 100,000 100,000
028 2 ¥ NABLY RA22USE
00,000, 00021* 14} 100,000
HEX UL ZH) 200,000 0 200,000
401 A& HIL2THY| 200,000 200,000
o1 Alt 200,000 200,000
OHEZ HIH=MZ Bl
200,000,008+ 141 200,000
#=sl 22/012 ZAAY 60,000 0 60,000
= 30,000
Al 30,000
401 Al&HIZ S THY] 60,000 0 60,000
= 30,000
Al 30,000
01 Alt 60,000 0 60,000
o= L2U0te TYMY
60,000, 0002!%14} 60,000
= 30,000
Al 30,000
SH& THoHOI 2 18,244,466 9,617,068 £1,372,612
2 1,100,000
2 932,000
= 5,439,100
Al 10,773,366
Rt 22 12,130,466 10,267,068 1,843,388
2 1,100,000
= 5,025,600
Al 6,004,856
NYSHE a2 L S50l A 300,000 451,610 A151,610
201 Ler2 ] 100,000 00,000 0
01 AR 22l 100,000 00,000 0
OXIaHE FbI ZHIYXH|
100,000,000+ 14} 100,000
401 A& 8L 20HY| 200,000 31,610 A 151,610
01 Alt 200,000 351,610 A151,610
OXIoHE SoH24, thaAls Ful 2 |X
PN 200,000,002+ 14] 200,000
MERSHE =RX L otd RAI2 229,473 251,046 A21,573
101 2124t 229,473 251,046 A21,573
VBIELEES=T=E 229,473 251,046 £21,573
OMYAME HEXY ol 229,473




Ax CAUES SN HED
M ofA THaHoNE
el Xgoks 2t (SH9 H2)
42 RA - ZB . G9(3D) - HRAMY - BYS Ol & A HlmE2t
=JlE2g
106,400 * 15 x 1021404 SH 223,440
CNBMNEEHRES
223,440,000 *2. 7% 6,033
SEMENNFA FA2tel 127,883 87,745 40,138
101 QI24H| 19,883 19,745 138
M ORNZZ2NSE S 19,883 19,745 138
OMFAl &4 S| A2 19,883
=JllEg=g 96,8003 x1ZH+202x 10 19,360
oSN EERE =S
19,360, 0002 *2. 7% 523
206 TH=HI 8,000 8,000
01 M= HI 8,000 8,000
OHAARE 7 8,000,000 14 8,000
401 AIEHIZL 20| 100,000 60,000 40,000
01 AlEZHI 100,000 60,000 40,000
OB RUEHMFA FAl2el
100,000,000 14 100,000
A2otd otatdHl & 3B 200,000 200,000
401 AlEHIYL S THYI 200,000 200,000
01 Al&HI 200,000 200,000
OXlgotd otatdEbl & &2 EH|
200,000,000 *14] 200,000
HARA MEHGHE TAAIS (HEALY) 4,435,000 3,695,334 739,666
[ 3,000,000
Al 1,435,000
401 Al&BIL S THYI 4,435,000 3,6%,334 739,666
< 3,000,000
Al 1,435,000
01 AlZHI 4,428,000 3,695,334 732,666
Od=& dEjiote gAY
4,428,000,000& * 14! 4,428,000
< 2,995,800
Al 1,432,200
03 Al 20HHI 7,000 0 7,000
OAIZ20HHI 7,000,000 *14] 7,000
[ 4,200
Al 2,800
Nt (Bsad) AL (HEAS 1,670,000 1,541,333 128,667
< 1,000,000
Al 670,000
401 AlEHIYL 2 THYI 1,670,000 1,541,333 128,667
< 1,000,000
Al 670,000




Ax CAUES SN HED
M ofA THaHoNE
el Xgoks 2t (SH9 H2)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
01 AlZHI 1,670,000 1,541,333 128,667
OXgote (ST E)ZHIALY
1,670,000,000& » 14 1,670,000
< 1,000,000
Al 670,000
KYotd FA2a=At 416,000 0 416,000
< 249,600
Al 166,400
401 A& BIL S THYI 416,000 0 416,000
[ 249,600
Al 166,400
01 Al£ZHI 416,000 0 416,000
OX ot FAE2=At
416,000,000 » 14 416,000
< 249,600
Al 166,400
FEXF AL (S+K) gAY 1,000,000 2,000,000 1,000,000
401 AlEHIYL S THYI 1,000,000 2,000,000 21,000,000
01 Al&ZHI 1,000,000 2,000,000 1,000,000
OZEXFLHAIL (R=R) ZEAIS 1,000,000
o3 AH 1,000,000, 000& » 14! 1,000,000
g ot EHIAY 100,000 100,000 0
401 AlEBIYL S THYI 100,000 100,000
01 AlZHI 100,000 100,000
OdtatdEtl & +=8E2F gl
100,000,000 *14] 100,000
S TATHIE HEX T ZHIAY 2,200,000 100,000 2,100,000
= 1,100,000
< 550,000
Al 560,000
401 AlEHIYL L THYI 2,200,000 100,000 2,100,000
= 1,100,000
< 550,000
Al 550,000
01 Al£ZHI 2,200,000 100,000 2,100,000
OXlgyste (443) gl
2,200,000,000& * 14 2,200,000
= 1,100,000
< 550,000
Al 560,000
NLote ot FHIANY 250,100 200,000 50,100
< 150,000
Al 100,100
401 AlEHIYL 2 THYI 250,100 200,000 50,100




MR CADER S HED
M oFA THOHO
el Xgoks 2t EER=E)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o g = ofl &b S2
= 150,000
Al 100, 100
01 Al&HI 250,100 200,000 50,100
OXletotd otEF™HIAIY
250, 100,000 & * 1A 250,100
& 150,000
Al 100,100
SO R=Z22HAIFAIE) Hb] 900,000 900,000
401 A& HIZL L 0HH] 900,000 900,000
01 Al&H| 900,000 900,000
OEUHE &+=22HHM=AIAL) H|
900,000,000& =14 900,000
KNote =232 HUIAIY 150,000 0 150,000
401 A& HILE0HY] 150,000 150,000
01 Al&H| 150,000 150,000
oL 2 150,000,000 * 14! 150,000
Fras AEE FUIAIY 152,000 0 152,000
= 76,000
Al 76,000
401 A& HI X201 152,000 0 152,000
< 76,000
Al 76,000
01 Al&| 152,000 0 152,000
OR4+AE MBS YA
152,000, 000& =14 152,000
& 76,000
Al 76,000
A0 22| 6,114,000 9,330,000 N3,216,000
g 932,000
& 413,500
Al 4,768,500
AGHA(ASH) HUIAIS (HEALY) 500,000 2,310,000 21,810,000
401 A& HILE0HY] 500,000 2,310,000 A 1,810,000
01 Al&HI 500,000 2,000,000 A 1,500,000
OASHE (AISH ) HEHIAFY
500,000,000& *1A 500,000
A0 (ZL0IE) HUIAIY (MEAY) 1,700,000 500,000 1,200,000
401 AIEHI L 204 1,700,000 500,000 1,200,000
01 Al&H| 1,700,000 500,000 1,200,000
OASHE (ZLDIA) HU|AFY
1,700,000,000& 1A 1,700,000
A0l HUEX] 24t 400,000 400,000
401 A& H|ILE0HY] 400,000 400,000
01 Al&H| 400,000 400,000




Ax CAUES SN HED
M ofA THaHoNE
Chel: AGHE 22l EER=E)
A 2A - ZB . S(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HD=2
OAotd HYUEX 24
400,000,000 * 14! 400,000
AGHE QIRAGHA At 600,000 600,000 0
401 AIEHIZL R OHYI 600,000 600,000
01 AlZHI 600,000 600,000
OAcHe QIEoHA ALY
600,000,000 *14] 600,000
A0td otatEHl & o0l At 750,000 750,000 0
201 ZeH23 ] 100,000 100,000
01 AtR2telbl 100,000 100,000
OAoldEH| ZHILXH]
100,000,000& * 14! 100,000
401 AlIEHIZL 2 0HYI 650,000 650,000
01 AlZH| 650,000 650,000
OAGHe Sot8H|, &4 & |AES
645,000, 0002114} 645,000
OAGHE 22| AIA R S X2l
5,000,000 * 14! 5,000
S ot Hed X2 ZHIAL 1,654,000 4,060,000 2,406,000
= 827,000
S 413,500
Al 413,500
401 AIEHIZ 2018 1,654,000 4,060,000 A2,406,000
[ 827,000
= 413,500
Al 413,500
01 AlZHI 1,654,000 4,060,000 A2,406,000
O MRIEMLAX 7 HHIAFS
1,654,000,000& * 14! 1,654,000
[ 827,000
= 413,500
Al 413,500
=OHOII 2 box W& & At 300,000 500,000 A200,000
401 AIEHIZ SR OHYI 300,000 500,000 A200,000
01 AlZHI 300,000 500,000 A200,000
O==oH0lI2 box 2 JH& At
300,000,000& =14 300,000
A0IE HES2elAAE 2= 210,000 210,000 0
= 105,000
Al 105,000
401 AIEHIZL R OHY| 210,000 210,000 0
= 105,000
Al 105,000
01 AlZHI 210,000 210,000 0




Ax CAUES SN HED
M ofA THaHoNE
Chel: AGHE 22l EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
OADIE HZ2ACIAAE 2=
210,000,000 x 14 210,000
= 105,000
Al 105,000
Y 2AAH (AL 68,932 69,592 2660
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ol 2| 746,222 726,675 19,547
TS ROIAHHIX&A 746,222 726,675 19,547
101 2124d| 470,788 452,018 18,770
03 2R (RI|H)2EXNE 4 470,788 452,018 18,770
o2 217,814
o264 2,593,020&x7H 128 217,814
(OFS == 20,672
o264 1,476,510& x7 H*23| 20,672
OMIZA &b 70,282
o264 1,004,020 x7H*10&] 70,282
(@FSELES= 38,640
oI EY 8,400
- BHS A+ 40,0003 *7Hx 1128 3,360
=& 20,000 *7H+3H 122 5,040
oELHRRE 160,000& 7= x 128 13,440
oXMAHE 140,000 7Y« 128 11,760
oM 60,000 x7H x 122 5,040
O=cl=MH| 54,122
o HMZAIH]| 140,000& *7H x 128 11,760
oW SExH| 140,000&*7H x 122 11,760
oHAESIIH| 24,806
264 1,771, 810& x7H *x23] 24,806
o 2tAlH| 3,000& #23L x7H x 128 5,7%
OxU224E 69,258
o A2t 2RE
30,600& *200 Al 2H+7H 42,840
o2 RE
10,2002 50 Al 2H7H 3,570
SRGPES=, 163,200& 20 x7H 22,848
M4 HA=RE2SE 275,434 274,657 777
M Z2LE(RIHH 22 BEE28EH=2 = 275,434 274,657 777
O=01d2 22 470,785,5603 %4 . 5% 21,186
OoHAEY 22
470,785,560 *3.545% 16,690




A= TAWSR 2N E20
2 HHSIAH(ZZD
el i Eg| (Gt H2)
A2 2A BB GRS - NISAY - BES ol k4 A HlmE2t
O YL FEHS
470,785,560 %3 . 545%%12. 95% 2,162
OnEg=Ls RE= 470,785,560 *1.8% 8,475
OtHHEE 283 470,785,560 *1.47% 6,921
OEd=z FE2 220,000,000 14 220,000
Jl23tl 80,452 78,664 1,788
Jl23tl 80,452 78,664 1,788
201 Ler2aY| 52,552 50,824 1,728
01 At 2teltl 47,752 46,024 1,728
Ogit=&4| 32,200
CHIANFES € MRIDILES
12,000,000 14} 12,000
oXI|IUXE 50,0002 <2CH 123 1,200
AR 2,000,000 14} 2,000
<J|Et==EH| 5,000,000 14} 5,000
oxEYI= 1,000,000 1CH =122 12,000
O=4Atl 15,552
ol esdg Al
9,000 x24H 62|« 122 15,552
2 s==3tl 4,800 4,800 0
OXrg==l 400,0002 *1CH* 12 4,800
202 04t 23,040 23,040
01 2oL 23,040 23,040
OJ =g R=+4d0d 23,040
ol oil
20,0003 x24H 43| 122 23,040
208 g= =8l 4,860 4,800 60
04 FAESE A 4,860 4,800 60
OFAESERFa
4,860,000 14| 4,860
WLEs(E2) 2,550,000 0 2,550,000
WEHAH K= 2,550,000 0 2,550,000
LHEHHRI = 2,560,000 0 2,560,000
701 JIERI NS EES 2,560,000 0 2,560,000
O1JIEteIH A ES 2,560,000 0 2,560,000
oFJlnsd 24
2,550,000,000& 14 2,550,000




H & 0l & AHS B Ml A

A= SAUSE= 2N 0 s
M A=z
el HA=HIEE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
A= 591,640 376,160 215,480
A=2e| 549,680 335,880 213,800
HAEHE2H 536,280 245,280 291,000
ASHIMHIAMS 169,600 174,600 A5,000
201 L2 | 169,600 174,600 A5,000
01 At 22|l 169,600 169,600 0
O%IA3 3o+
70,0002 *14H x203] 19,600
OAEA 20U =2
130,000,000 14! 130,000
OAEs2elHE H3E =2
20,000,000& * 14! 20,000
ASYE 22| 16,680 10,680 6,000
201 2| 5,000 0 5,000
01 ArR22ltl 2,640 0 2,640
OZE ZekaDL 2|8 (CIVelE 0182
220,000& 12942 2,640
02 E324Hl 2,360 0 2,360
OB E ForaIL Z2[Z CTV 2,360
o&XHl ¥ MIIIUSAL
1,100,000 *14] 1,100
ocMIIR=3 105,000 1201 = 1,260
202 Odt| 10,000 9,000 1,000
01 =LHO LI 10,000 9,000 1,000
ORIFAHR =&Y
20,000 x10E *502] 10,000
203 ZR =& 1,680 1,680
03 AR FRIHRFAIH| 1,680 1,680
OHFEE A =2
1,680,000 *14] 1,680
AMZTHKIS A= 2t 350,000 60,000 290,000
201 B2 AL| 30,000 30,000 0
01 ArR22ltl 30,000 30,000 0
OgBt=2H| 30,000
SRIPNEN=ES e
30,000,000 14! 30,000
401 AIEHIZ 28I 320,000 30,000 290,000
01 AlEHI 320,000 30,000 290,000
OSAZSH=E 2te|
320,000,000 14! 320,000
HAESUE 22l Zs&t 4,400 3,400 1,000
HAE=EUE Hel & 22 400 400
201 2E2Z 400 400
01 ArR22ltl 400 400




AR TAUSE=R SN HED
M A2
ol ASSUE 22l 28 EER=E)
AR 2N - B S2(3H) - NRAY - BES (TPNET A ClImE=T]
Oggt==3H| 400
oAEZYR 2E HHIRX
200,000 2CH 400
AESUE 22l2s 2H3 4,000 3,000 1,000
202 04l 4,000 3,000 1,000
01 =LH0i 4,000 3,000 1,000
OAN=SUE 223 FA0H
20,0003 x4 »503] 4,000
A=A EE 9,000 7,200 1,800
EYHEE N - o= 9,000 7,200 1,800
202 Ot 9,000 7,200 1,800
01 =LHoi 9,000 7,200 1,800
OSgH=ES =2 AMHMFAOLI
20,0003 x5 »903] 9,000
HY2HAH (A=) 41,960 40,280 1,680
Jl=23l 41,960 40,280 1,680
Jl=2&Hl 41,960 40,280 1,680
201 er23 | 30,760 29,080 1,680
01 At2teltl 30,760 29,080 1,680
Oggt==H| 15,640
cHMIANRES LI
300,000& * 122 3,600
SMNRII| A2E 2|
400,000 * 128 4,800
oARE 4| 150,000 122 1,800
oIt MIZ 2,000,000 %14 2,000
cpl2 REZ 20,0002 x35+ 12 720
odaI| YAz 60,000 * 122 720
=J|EH =EH] 2,000,000 %14 2,000
Os4ltl 15,120
oJ|EgRed g4I
9,000 x 10+ 14 x 122 15,120
202 04l 7,000 7,000
01 =LH0i 7,000 7,000
OJ|2gR==& 0bl
100,000 x 10 +73] 7,000
203 gR=8| 4,200 4,200
4 A2 LRFAI 4,200 4,200
ORMzggR=d 350,000 * 12 4,200




H & 0o & A E Al A
A= SAUSE= 2N ¢ e
Y =HEM
Rl FHEE3 8] EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
et 17,165,448 15,501,527 1,663,921
= 13,666,759
= 1,557,948
Al 1,940,741
THEH 323,400 332,400 29,000
F=HEFEHI 323,400 332,400 29,000
BIE(sHE - TANEYI 321,000 330,000 29,000
201 2| 1,000 0 1,000
01 AtR2telt] 1,000 0 1,000
OS&LY 28I =2
500,000& *23] 1,000
401 AlEHIZ 20| 120,000 130,000 A 10,000
01 Al&HI 120,000 130,000 210,000
OBIEEHIA (XEA)
30,000,000&+3= 90,000
OSHUITEN (XHH)
30,000,000&*1= 30,000
402 QIZ2ERHE01 & 200,000 200,000
01 QIZEXHE AL B (KM THE ) 200,000 200,000
ORIEFHIANSE (EZS 80%)
4,000,000& x50 200,000
T - sEFHEZEY 293| 2,400 2,400
202 Odt| 2,400 2,400
01 =LHOILI 2,400 2,400
OFNEH L FEIHSAIY RFE
20,000 *2H *603] 2,400
SEH 2t 1,128,250 851,680 276,570
T 300,000
Al 828,250
S8 22| XA 787,760 786,800 960
STt 727,760 726,800 960
201 2Et2 & 2,000 2,000
03 A2 EH| 2,000 2,000
OOCHIIE=Pl 2H(LFNUE) s
2,000,000 *13] 2,000
202 o4t 5,760 4,800 960
01 =04 LI 5,760 4,800 960
O2sF82e i gF+8 ZY|
20,0002 4 Z 63| * 128 5,760
402 BI2HR=0l M 720,000 720,000
01 QIR A 2= (KHRITH ) 720,000 720,000
OSSFHIA(EZE 50%90%)
720,000,000 x 14! 720,000
A2 ESFE tEEH NE 60,000 60,000 0
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M2 CARER
Ha: Feipre)

cHelr S3AIE K& A

SN

Ja
]

AR RA BB B(S) - MBAY - B O &kt A HImEET
O&AM FLHI 1,500,000 1A 1,500
OJIE =&H]| 1,200,000 * 14! 1,200
202 04t 12,480 8,640 3,840
01 =LHOdH] 12,480 8,640 3,840
OZTAIE MY LP48 2|
20,0003 *4H 133 x 12& 12,480
MBI =) otH 15,657,198 14,275,467 1,381,731
= 13,666,759
= 1,257,948
Al 732,491
HNASE FHE K& 15,657,198 14,275,467 1,381,731
= 13,666,759
= 1,257,948
Al 732,491
SAUUOHHE ss™I|E XA 36,000 36,000 0
307 QIZ2tOI A 36,000 36,000
05 CIZtRAErZ 36,000 36,000
OYFAUOHIE BsEII=2XE
3,000,000& *12o1 & 36,000
FNH=0 15,110,398 13,796,667 1,313,731
= 13,599,359
= 1,057,728
Al 453,311
301 LEBEZ 13,681,113 12,301,111 1,380,002
= 12,313,002
= 957,678
Al 410,433
01 AIBSIBEX LGS (2REZE) 13,681,113 12,301,111 1,380,002
Oogxt =H=0o 13,681, 113,000& * 14! 13,681,113
= 12,313,002
T 957,678
Al 410,433
308 AXISHMSOIN 1,429,285 1,495,556 266,271
= 1,286,357
T 100,050
Al 42,878
13 S| 2SHUEHE A X2 E ALY 1,429,285 1,495,556 66,271
Ox=ERX =H2A
1,429,285,000 & * 14| 1,429,285
= 1,286,357
T 100,050
Al 42,878
ZHOHQI =84 DAL 22,800 22,800 0




AR CADE= SA =S
M2 =) otF
=Rl MASE FHeE X (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
S=cTA-SRe s T <=5 - Ol &2 ==
= 11,400
(o= 3,420
Al 7,980
402 QIZERHE0I M 22,800 22,800 0
= 11,400
(o= 3,420
Al 7,980
03 2I2HR &AL I 22,800 22,800 0
OHOHe ==X X
3,800,000 x624 22,800
= 11,400
< 3,420
Al 7,980
MERR FHAS WE0IA K& 336,000 368,000 /32,000
< 168,000
Al 168,000
301 LEI2EF 336,000 368,000 /32,000
== 168,000
Al 168,000
02 AISI 262 (FUAS, RLTHR) 336,000 368,000 232,000
OMER8 =HA3 S0k XA
336,000,000 *14 336,000
< 168,000
Al 168,000
ZEE MK F=Ha0 X2 40,000 12,000 28,000
< 12,000
Al 28,000
402 QIZERHE0I M 40,000 12,000 28,000
== 12,000
Al 28,000
03 QIZtR(ErAFHI 40,000 12,000 28,000
OL2E x=ERX =HSH XA
4,000,000& *10A 40,000
[ 12,000
Al 28,000
BIZ&AAX HZ=X OlAEl XI& 12,000 10,000 2,000
= 6,000
[ 1,800
Al 4,200
301 Et2E S 12,000 10,000 2,000
= 6,000
== 1,800
Al 4,200
01 AISIEEH 63 (S REXTHE) 12,000 10,000 2,000
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. HASE =)o XY o ze)
CEA B O9I(3) - HSAY - BES A 2
OHIEAAX™ H=Xt OIAHH| XI&
400,000 *30Z 12,000
= 6,000
= 1,800
Al 4,200
HNESSEEES 235 A& 100,000 30,000 70,000
= 50,000
= 15,000
Al 35,000
301 LetENEZ 100,000 30,000 70,000
= 50,000
& 15,000
Al 35,000
01 A 2&ASH 2 (FREETR) 100,000 30,000 70,000
O34 MNE2E3LEEs B85 K
250,000 400X 100,000
= 50,000
= 15,000
Al 35,000
MY 2HZH|(F=E) 56,600 41,980 14,620
JlE2al 56,600 41,980 14,620
JlE2&l 56,600 41,980 14,620
201 2| 47,500 32,880 14,620
01 At 22|l 47,500 32,880 14,620
OHIANRES Ll
400,000 122 4,800
OAIRI17] 222 7l
450,000 128 5,400
O271E =4l 150,000&*12& 1,800
OZAH MIZH| 80,0002 x50 4,000
OFAM, &E Pl 80,0003 *12& 960
OJIEr =&H| 3,000,000 14 3,000
O=4| 9,000 x17H 15+ 123 27,540
202 o4t 5,500 5,500
01 =WO4bI 5,500 5,500
OJl=zgR==8 =0
50,000& *1103! 5,500
203 PR =&IH| 3,600 3,600
M FA2LHRFAH 3,600 3,600
ORN2IELRFAI
300,000& 123 3,600




